IERS I i B A # %l A’ B 6L HE EREHE 15
ERB R
Bt T
EEETMIBT LEI Wl HRNS m3 2.1 2
RET
AT ATy m2 40.0 40|L=50m . SL=8.0m
HEEET
EETT HEH m3 5.7 5
R m3 33 3
HEEET NS DR T H1.0m: B #h#1 £EL m 5.0 5
GiEd
BT
SEERET NGNS m2 605.8 605
FRI7IMEHET TrRERE RC-30.t=10cm m2 606.1 606
R M-30.t=10cm m2 592.8 592
e BA BRI As, t=50mm m2 8646.5 8640
EERHMEMREE T
BEI FAH—T m 261.6 260




& 4 T &£ H XK
T o@m @ A @ Bl 2 wooww .
WET
HEERT
FEEEI m? 605.8
FRAITIVNEEET
TRERE BEISYIY—FY t=10cm | m? 606.1
ErERRAE HIERAZME t=10cm  m? 592.8
xR BABHETZAAY t=5cm | m? 8646.5
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b: = BB B THEEE TR t=10cm L EERHE t=10cm =B t=5cm W E
TH| EmE|RBE|TFTY | @R B|TEH | @ E EHY @B
g 8 g & g & e 8

NO.1 +1.900 0.00
NO.1 +10.000 8.10
NO.2 10.00
NO.2 +10.000 10.00
NO.3 10.00
NO.4 20.00
NO.5 20.00
NO.6 20.00
NO.7 20.00
NO.7 +10.000 10.00
NO.8 10.00
NO.8 +4.000 4.00
NO.9 16.00
NO.9 +10.000 10.00
NO.10 10.00

0.0 0.0 0.0 0.0
178.1
NO.10 00
BC.3 12.40
NO.11 7.60

0.0 0.0 0.0 0.0
200
NO.11 0.0
NO.12 20.00
NO.12 +11.282 11.30
NO.13 8.70
EC.3 10.30
NO.14 9.70
NO.15 20.00
KE.4-2 6.20
NO.16 13.80
KA.5-1 11.20
NO.17 8.80
NO.18 20.00
NO.19 20.00
NO.19 +1.000 1.00

0.0 0.0 0.0 0.0

160.0
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b: = BB B THEEE TR t=10cm L EERHE t=10cm =B t=5cm W E
T @E|RE|TYH | @R B|lFYy | BB |BE|FTH|EHE
g 8 g & g 8 g 8
No.19 +1.000 0.00
No.20 19.00
No.21 20.00 HIE
6cm
No.22 20.00 =E
No.23 20.00 bem
No.24 20.00
No24  |+6.000 6.00
00 0.0 0.0 0.0
105.0
No24  |+6.000 0.00 7.00
No.25 14.00 700 | 7000| 980
No25  |+4.757 4.80 700 | 7.000| 336
No.26 15.20 700 | 7.000]| 1064
No.26 +9.803 9.80 700 | 7.000| 686
No.27 10.20 700 | 7000| 714
No.27 +11.319 11.30 700 | 7.000]| 79.1
No.28 8.70 700 | 7.000| 609
No.29 20.00 700 | 7.000| 1400
No.30 20.00 740 | 7200 1440
No.31 20.00 740 | 7.400| 1480
No.31 +15.000 15.00 725 | 7.325| 1099
00 0.0 0.0 1,059.9
149.0
NO.36 0.00 7.13
NO.37 20.00 844 | 7785 1557
KE.8-2 8.00 900 | 8720| 698
NO.38 12.00 807 | 8535| 1024
KA.8-2 13.60 700 | 7535 1025
NO.39 6.40 700 | 7000| 448
NO.40 20.00 730 | 7150 | 1430
NO.41 20.00 764 | 7470 1494
NO.42 20.00 901 | 8325/ 1665
KE.9-2 7.60 950 | 9255| 703
NO.43 12.40 847 | 8985[ 1114
NO.44 20.00 700 | 7735 1547
KA.10-1 10.50 700 | 7000| 735
NO.45 9.50 779 | 7395| 703
NO.46 20.00 976 | 8775| 1755
NO.46  |+7.000 7.00 944 | 9600 | 672
NO.47 13.00 805 | 8745[ 1137
KA.10-2 12.70 700 | 7525| 956
NO.48 7.30 700 | 7.000| 511
NO.49 20.00 700 | 7.000| 1400
NO.50 20.00 700 | 7.000 | 1400
NO.51 20.00 765 | 7325 1465




iHow

=

b: = BB B THEEE TR t=10cm L EERHE t=10cm =B t=5cm W E
TH| EmE|RBE|TFTY | @R BT |  BE|BE|FEFH | BB
g 8 g & g & e 8

NO.52 20.00 8.91 8.280 165.6
NO.53 20.00 8.74 8.825 176.5
NO.54 20.00 717 7.955 159.1
NO.55 20.00 7.31 7.240 144.8
NO.56 20.00 7.71 7.510 150.2
KE.12-1 8.50 8.30 8.005 68.0
NO.57 11.50 8.00 8.150 93.7
KE.12-2 10.60 8.00 8.000 84.8
NO.58 9.40 7.68 7.840 73.7
NO.59 20.00 7.00 7.340 146.8
KA.13-1 14.70 7.00 7.000 102.9
NO.60 5.30 7.41 7.205 38.2
NO.61 20.00 8.97 8.190 163.8
KE.13-2 7.90 9.00 8.985 71.0
NO.62 12.10 8.06 8.530 103.2
KA.13-2 13.60 7.00 7.530 102.4
NO.63 6.40 7.50 7.250 46.4
NO.64 20.00 9.26 8.380 167.6
NO.65 20.00 7.70 8.480 169.6
KA.14-2 5.20 7.30 7.500 39.0
NO.66 14.80 7.43 7.365 109.0
NO.67 20.00 7.50 7.465 149.3
NO.68 20.00 7.50 7.500 150.0
SP.15 8.30 7.50 7.500 62.3
NO.69 11.70 7.50 7.500 87.8
NO.70 20.00 7.22 7.360 147.2
NO.71 20.00 7.00 7.110 142.2
NO.72 20.00 7.00 7.000 140.0
NO.73 20.00 7.00 7.000 140.0
SP.16 14.10 7.00 7.000 98.7
NO.74 5.90 7.00 7.000 41.3
NO.75 20.00 7.00 7.000 140.0
EC.16 10.80 7.00 7.000 75.6
NO.76 9.20 7.00 7.000 64.4
NO.77 20.00 7.00 7.000 140.0
NO.78 20.00 7.00 7.000 140.0
NO.79 20.00 7.00 7.000 140.0
NO.80 20.00 7.00 7.000 140.0
NO.81 20.00 7.00 7.000 140.0
0.0 0.0 0.0 6,858.9

900.0




b: = BB B THEEE TR t=10cm L EERHE t=10cm =B t=5cm W E
BEE(FH|  BHE|BE|TYH BHE|(RE|(FYH|  BHE|BE|TH| @K
g 8 g & g & e 8
NO.81 0.00 7.00
SP.17 7.30 7.00 7.000 51.1
NO.82 12.70 7.50 7.45 7.35 7.30 7.150 90.8
EC.17 15.00 7.60 7.550 113.3 7.60 7.525 112.9 7.40 7.38 110.7 7.30 7.300 109.5
NO.83 5.00 7.90 7.750 38.8 7.90 7.750 38.8 7.70 7.55 37.8 7.60 7.450 37.3
NO.836 +6.000 6.00 7.90 7.900 474 7.90 7.900 474 7.70 7.70 46.2 7.60 7.600 45.6
NO.84 14.00 7.60 7.750 108.5 7.60 7.750 108.5 7.40 7.55 105.7 7.30 7.450 104.3
NO.84 +15.000 15.00 7.60 7.600 114.0 7.60 7.600 114.0 7.40 7.40 111.0 7.30 7.300 109.5
NO.85 5.00 7.50 7.550 37.8 7.60 7.600 38.0 7.40 7.40 37.0 7.30 7.300 36.5
SP.18 11.90 7.30 7.400 88.1 7.25 7.425 88.4 7.15 7.28 86.6 7.10 7.200 85.7
NO.86 8.10 7.00 7.150 57.9 7.10 7175 58.1 7.10 7.13 57.8 7.10 7.100 57.5
NO.87 20.00
NO.88 20.00
NO.88 +10.000 10.00
NO.89 10.00
BC.19 9.30
NO.90 10.70
NO.91 20.00
SP.19 11.20
NO.92 8.80
NO.93 20.00
EC.19 13.10
NO.94 6.90
KA.20-1 13.30
NO.94 +18.124 4.80
NO.95 1.90
KE.20-1 19.90
NO.96 0.10
NO.96 +5.000 5.00
NO.96 +14.200 9.20
605.8 606.1 592.8 727.8

314.2




3. fxfa LERHE
G I - 2 S

(m)

#l

B

AL

T AB—T

op

1

2

TAN—T

MDRIET A= v

261.6

261.6




T A — 7 R R E

A NV NI BOf7:m

) J<) I &= i} C:d
No.24+6. 0~No.31+15. 0 46.5 |/{H] 46.5

JEMA] 17, 2+13. 8+5. 0+11. 3+36. 0

No.36~No.81 131.2 +20. 6+27. 3
No.81~No.86 83.9 |[/{A 38.4 Al 45.5

& B 261.6
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1A (RC-40) t=150mm
A= 0.750 X 5.000 X  1.000 = 3.750| m? 3.75
3.avry—h (18-8-40)
V= 0.375 X 5.000 X 1.000 = 1875 ® 1.88
3. (18-8-40) t=100mm
A= 2031 X 5.000 x 1.000 = 10.155| m? 10.2
4 PR YR V= 1.143 X 5.000 X 1.000 = 5713 n? 5.71
5.4 5 V= 0.655 X 5.000 X 1.000 = 3.275| n? 3.28

6.5% L5y V= 5713 - 3275 =+ 0.900 = 2074 ' 2.07




